el SR SRl S e A

1o B\ el Lf/o-, /$o>

&Y pises Gou §eled 4o )7<:|

L A: 01000 f41
\/- I.H/)/)"
h.‘t h, +h, H\g b fﬁg“,.,”\q‘ {V/:‘;;%:) = 0.074
D= 0. 5054 4
he =~ dodal fos £ 0B X 6Ly ST Lbbf®

h, = (l Vl'/?'s) Eﬂ‘f‘i}f‘«-& /G‘J‘S_ [%w& edlju{ inles)
LSt L Lefp) (V'/25)  unlveit)

hy = f1( fp) (F]%) - poe 90° Sednd efpuss (349

) 105 5 R R e

hs= i (Lefo) 1]n) wle ()

hi=z te [‘/”) z v'/2) vl (®

hoz b1 (/D) (V/2) % chnsnd clbon

Lotz Lo [ Lefa)0HR) - salee (D)

L‘:-. -@,’,[\ L/D)’A/I/U), Lachon 188 1n df‘VdmjL Jira

I

Cuctinn  and d;?(h«}( e ore' PolSane  Fini ﬂf;m»/(j

o)\ &5 (d,\
A AC A | A4

‘}'D j&" ‘Cﬂf‘l\"" 4"{‘/- v; Of

rmyCrsesHC
\' ) m=7

Ao = =V,

el a s A
PP AL

Ne = 8499 x106” N 2 9000 ( fucbolent)

OS0%Y

VL B e 4y
£=00155

= (. W V/%) = 5)(#0) = 0.0 f}

h,~ £ [ Lefo)(V]) = (0.0159)( 150 ) (0% A = 0.07¢ &4 il

bt L (o) (ig) = (0.019)(2)(3)(0-0) = 0. ol ¥ 4> i

¥y by = L[ 19) €12) = Lol Z,vf"’-g%‘)(\o.o'zﬂ =.0.21 )
b~ .04k 4 i
he ~ 0046 s heg= 0,046 L+ g

hy= (.09 U°)(0Aﬂ) > 00 Ly hg= 0.2 {+







